1 STAGE 28 TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED

240 [T § T 1200 <1.90 ABRASION [NONE [LIGHT [MEDIUM |HEAVY
H 1 ] T MAX. PRESS| 75 | 60 35 15
- MAX. SPEED| 750 | 565 375 190
H 1 1 BB T AERNENEE TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
200 HopmTs H 1000 41.59 CPS 100 J1000 [ 2500 5000 10,000 [50,000] 100,000 [ 150,000 | 200,000
PR T T g ifanan TQ [129 [370 | 565 | 772 [ 1065 | 2255 | 3100 3750 | 4275
. SRR T A RPM|[750] 750 | 750 [ 600 | 320 | 80 40 30 25
] : =L ] LA T
160 . ] 1 : i 800 127 TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)
BiNERNARARRRRERRSL . HAARANND ~ NERESINRRNRERRERRERNY _, NOTE: MAXIMUM PARTICLE SIZE .8 INCH
5 8 i 0 s o = SIZE FINE MEDIUM COARSE
n o > T (% .01 T0 .04" | .04" TO .08” |.08" & LARGER
] L k —
& 120 =~ > S 600 = J.952 3 10 201 231 333
© SEEEREREY Suasaaes Be b 3 w < 30 603 693 999
i == - g S o 50 1005 1155 1666
g i JpunsEiE Sang anag =2 TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
80 PR = 400 783 ~F 170 |100 [125 | 150 |175 | 200|230 250275300 |350
S R T TR ROTOR
. ] n STD  [1.0]11[13]16]18
i = angnEfs SGL U/S 11 [1.3[16]1.8[2.0
40 PP il H 200  H.317 DBL U/S 1.0]11 [1.3]1.6 [1.8
1 T . L —~
= 1) DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
& =8 FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
§ i TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
0 0 40 ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
0 10 20 30 40 50 60 70 80 AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
DIFFERENTIAL PRESSURE (PSIG) ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER
STARTING TORQUE 888 IN/LB .
RPM |NPSHR (FT) SEE EIENERAL INSTRUCT IONS 2) FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
% % CURVE BASED ON 70°F WATER TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
: 70 DUROMETER --50 DUROMETER THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
200 2.1 (TQ) (RPM) CORRECTED STARTING TORQUE.
300 3.2 HP = —53025 COMPARE THE RESULTS FROM STEPS 1 AND 2. THE REQUIRED
TORQUE WILL BE THE GREATER OF THE TWO.
400 4.7
500 7.4 71X28
600 9.9 ,
700 12.6
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2 STAGE 28
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STARTING TORQUE 1500 IN/LB

RPM |NPSHR [FT) SEE GENERAL INSTRUCTIONS

100 1 CURVE BASED ON 70°F WATER
— 70 DUROMETER --50 DUROMETER

200 2.1 hp - (T0) (RPM)

300 3.2 63025

400 L7

500 7.4

600 9.9

700 12,6

TORQUE (IN/LB)

94.76

=887

3.17

-12.38

—11.59

HP /100 RPM

1)

2)

TABLE A ABRASIVE CONDITIONS MAX. PRESSURE & SPEED

ABRASION |NONE [LIGHT |MEDIUM |HEAVY

MAX. PRESS | 150 120 70 30

MAX. SPEED]| 750 | 565 375 190

TABLE B APPARENT VISCOSITY - TORQUE ADDITIVE (IN/LB) & MAX. SPEED
CPS |100 {1000 | 2500 | 5000 {10,000 |50,000 | 100,000 | 150,000 | 200,000

TQ [258] 740 | 1130 | 1544 | 2130 [ 4510 6200 7500 8550
RPM|750| 750 | 750 [ 600 | 320 80 40 30 25

TABLE C WATER BASE SLURRY TORQUE ADDITIVE (IN/LB)

NOTE: MAXIMUM PARTICLE SIZE .8 INCH
SIZE FINE MEDIUM COARSE
% .01 TO .04" | .04" TO .08” | .08" & LARGER
10 265 305 440
30 796 914 1319
50 1326 1524 2198
TABLE D STARTING TORQUE MULTIPLIERS (IN/LB) FOR TEMPERATURE
°F
oo 70 100 [ 125|150 [175 | 200230250 275|300 | 350
STD 1011 [13[1.6]1.8
SGL U/S 11 11.3[1.6[1.8 2.0
DBL U/S 1.0{11]1.3]1.6 [1.8

DETERMINE WHICH TABLE (B OR C) APPLIES TO YOUR FLUID AND
FIND THE APPROPRIATE CHARACTERISTICS. DETERMINE THE
TORQUE ADDITIVE AND ADD IT TO THE TORQUE FOUND FOR WATER
ON THE CURVE. IF YOUR FLUID IS A COMBINATION OF BOTH SLURRY
AND VISCOUS MATERIAL. DETERMINE THE APPROPRIATE TORQUE
ADDITIVE FROM BOTH TABLES AND ONLY USE THE GREATER OF
THE TWO TO ADD TO THE TORQUE FOUND FOR WATER.

FIND THE FACTOR FROM TABLE D THAT CORRESPONDS TO THE
TEMPERATURE OF YOUR FLUID AND STYLE OF ROTOR. MULTIPLY
THE STARTING TORQUE SHOWN BY THIS FACTOR TO OBTAIN THE
CORRECTED STARTING TORQUE.

COMPARE THE RESULTS FROM STEPS 1 AND 2,
TORQUE WILL BE THE GREATER OF THE TWO.

72X28
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